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N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/8
Ostwaldoptimal colours (0) of maximum (m)Cag for D65, Y,,=100, Y,=520_770
T " " " 520 Ostwaldcolours (0) Y\y=100 Xy=95,04,Y,,=100,002,=108,89 B
LA iz Ay L* A* B~ C* a b’ hat idAd icAc Codd 515 b hromatic valtie, D65 . s °
= th LAL 12,72 AB ab ldAd leAc 0,8 M m;: Q(Tr)wc()n:%rt?gt'ycglg;;m n %,=0,3127y,,=0,3290 s 140
@ o 0 405 32561 80.85 -67.55 -32.53 74.98 0.1805 -0.1029 205.748% 589 Cm 0 : N
=@ 6 435 32562 81.18 -81.89 -19.25 84.12 0.1732 -0.096 193.248¢  64Q \ et o
g.‘ﬂ. 10 450 32563 81.52 -109.06 11.43 109.66 0.1595 -0.0803 174.049®  496c A {ﬁw\i
O é 12 460 33565 82.01 ~-120.7433.26 125.24 0.1538 -0.0692 164.5508  568c , , A
=8 12 465 33567 82.74 -118.7634.5 123.67 0.1552 -0.0687 163.8504  566c oo n=0es B ; e
S= 14 470 33569 83.3 -123.4757.53 136.22 0.1532 -0.0572 155.052%  52dc 7o I #
3 D 15 475 34573 84.63 -118.7370.39 138.03 0.1564 -0.0512 149.3526  5280Gm
= 16 480 36580 86.98 -107.2184.2  136.33 0.1633 -0.0452 141.8527  531c (Cli= deri X e (mj_c e, S
el 17 485 39595 91.12 -80.53 100.07 128.46 0.1778 -0.0394 128.8548  548c 00 P02 o4 06 08 10 chroma(m*o) ’
2= 18490 -1490c97.55 -23.15 119.05 121.28 0.2052 -0.0337 101.0668 439 ma T Ea— T
=3 19 495 -1495c96.94 -20.63 12542 127.1 0.2062 -0.0306 99.3 568 462 %,=0,3127,,=0,3290 a0 %,=0,3127y,,=0,3290 20
O o A= (ay —ay ) Yag (VY1913 Az = (@ = 8y) Yag (VY1913
<8 20500 -1500c96.17 -17.33 131.15 132.29 0.2076 -0.0277 97.5 568 462 B = (1~ by Vo (Vi3 Bo= (0o - bo) Yae (Y1913
== 22510 -1510c94.0 -8.24 140.17 140.41 0.2116 -0.022493.3 563 448 a = 290 [(x-0,173/y] 1o 2 = 2y [(x-0,17D/y] 1
Q- by = by [2/4] 41 b=z [(Mp1x+bpy)/y]
oc 23520 -1519¢92.57 -2.53 142.99 143.01 0.2142 -0.020291.0 533 4724 Ym 0= 1, byo= ~0,4 fegW\T B o= 1, byp=~0,4 o3fs i
P 25530 -1529c88.94 10.79 144.39 144.79 0.2205 -0.016585.7 583 415 e L : 4>01 :‘F;l;;‘;lﬁgvbm:"'i%g St 4>02
=R 27540 -1539c84.43 2554 141.4 14369 0.2281 -0.013479.7 5836 418 . Eé\ N
£5 28545 -1544c81.91 33.05 13834 14224 0.2322 -0.012176.5 585 419 1 g
g& 29550 -1549¢79.2 40.58 13451 1405 0.2367 -0.011173.2 588 486
Sw 30555 -1554c76.32 47.96 130.1 138.66 0.2413 -0.0103 69.7 536 486 mi”g}'%f;’"ﬁ R R DN S
om 32560 -1560c70.18 61.63 120.13 135.02 0.2511 -0.0093 62.8 587 488 chioma (7}, B*) chroma (A%, B*))
(D w BE361-3A_1 BE361-4A_1
o % 32561 0 405 70.73 60.89 110.07 12579 0.2505 -0.022 61.0 589 488 Rm o ogpon 10089 Bay e e 10089 By
=>m 32562 6 435 70.32 70.59 34.83 78.71 0.2562 -0.0659 26.2 612 488 gg(aa—aa,n)zmwgm)ig QAf(aa‘?.n)zle(ng)ig
29 32563 10450 69.88 85.85 -12.65 86.77 0.2653 -0.0935 351.6494c 498 R e L | L R |
ST 33565 12460 69.24 92.89 -29.54 97.47 0.2698 -0.1035342.3568c 505 b3=bap [(Mp1x+Dp0)] bys 41 ba=bz0 [(Mpx+bpy)ly]
ary a0=1, byy=-0,4 lo0—g ap0= 1, byo=-0,4 b8 4
= 33567 12465 68.27 94.84 -31.22 99.85 0.2716 -0.1046 341.7568c 506 mo-0STAbp0gse . gl 1. A mpi=-0,169bp,20389 P55 LA
o= 33569 14470 67.48 99.24 -42.98 108.15 0.2748 -0.1119 336.5520c  52@ n=D65 -40 ég u9 40 n=pes 40 g | a 40
= 34573 15475 65.52 102.87 -49.85 114.31 0.2784 -0.1167 334.1528 528 Mm ! 1
© 36 580 16480 61.69 107.96 -59.02 123.04 0.2848 -0.1241331.3537c 537 il
o 39595 17485 53.22 112.99 -75.47 13588 0.297 -0.1406 326.2548c 529 osfwalaolours (0) Yy=100 Ogwaldgolours (0) Yiy=100
» -1490c18490 29.91 89.01 -117.0 147.01 0.3124 -0.2136307.2439  5@3min L R P B
&a -1495c19495 33.36 74.42 -112.09134.55 0.2908 -0.1997 303.5462  5&3 BESOLSAL SEooL oAt
l X,=95,04,Y,,=100,00Z,~108,89 B, Xy=95,04,Y,=100,00Z,=108,89 B,
g -1500c20500 37.09 58.44 -106.44 121.43 0.2704 -0.1864 298.74682  5GB Xo=0,3127y,=0,3290 20 Xo=0,3127,=0,3290 410
o> -1510c22510 4526 23.9 -93.37 96.38 0.2349 -0.1623 284.3468 589 222&3?5‘322%1353 gzjggg:gz-%g%igig
3 -1519c23520 49.52 6.76 -86.32 86.58 0.2205 -0.152 274.4414 530 Bm a5 = a0 [(x-0,17D)y] 1 a6 = [Xly] 1
Q -1529c25530 58.0 -23.98 -72.06 75.95 0.1992 -0.1348 2515415 538 be=bzo (Mo +bou)h] bas 41 Be=bz0 [(Mowx+bo11Y] o8 41
=, a0=1,by=-04 OO—T A =1, byp=-04 A
= -1539c27540 65.83 -46.7 -58.75 75.05 0.1868 -0.122 2315418  53% Mot~ 05740858, £65| , S Moi= 0574008 A
-1544c28545 69.38 -54.68 -52.68 7593 0.1833 -0.117 223.9418 538 "~ 0 és 49 “ "~ 0 X S N
-1549c29550 72.72 -60.59 -46.95 76.65 0.1812 -0.1126217.7486  58B ¢ 1 |
-1554c30555 75.82 -64.5 -41.62 76.77 0.1803 -0.1088 212.8486 586 A 2
_ _ _ _ O lour: Yyw=100 Ostwaldcol Y\W=100
1560c32560 81.29 -66.96 -32.22 74.32 0.181 -0.1027 205.6488 589 Oualolours (0 100, Ostwaldcolours () W00 1 4
chggma (A*s, B*5) chroma (A*g, B*¢)
380 770 100.0 0.0 0.0 0.0 0.2154 -0.0861 0.0 BE361-7A 1 BE361-8A_1

/IR
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TUB-test chart BE36; CIEx, y) and chromaA*;, B*;)

input: w/rgb/cmyk —> rgb
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Ostwaldoptimal colours for illuminant P60; diagram for illuminant P8R=100
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- http://farbe.li.tu-berlin.de/BE36/BE36.HTMONP.PDF /.PS -
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 2/8
Ostwaldoptimal colours (0) of maximum (m)Cag for D50, Y,,=100, Y,=520_770
T " " " 520 Ostwaldcolours (0) Yjy=100 Xy=96,42.Y,,=100,002,=82,49 B
A Ay L* A= B+ C* ’ b’ hab id A A d 515, % ; o
—_ 11, Aq1 12, A2 AB a ab ldAd lc;Ac  Codse 08 1/ M,,,max (m) chromatic value, D50 Xy=0,3457y,,=0,3585 +40
@ & 1 405 32564 80.64 -79.12 -32.66 85.6  0.1753 -0.0939 202.4486 588 Cm T Qo:(&:l;ag.:))yegglgig
=@ 7 435 33565 80.84 -92.99 -16.32 94.42 0.1682 -0.0862 189.9498 636 o et 1
g.fﬂ. 10 450 33566 81.12 ~-108.347.14 10858 0.1604 -0.0752176.249P  491c s L 88 B0 4
& é 12 460 33567 81.46 -116.9728.06 120.29 0.1561 -0.0654 166.55(8  5066c , & A
=2 13 465 33568 81.82 -119.2639.57 12566 0.1552 -0.0601 161.6622  5HIc o n=P%0 0 a8
S 14 470 34570 82.4 -119.2251.38 129.82 0.1555 -0.0547 156.6528  5%dc TosE |
3 ® 15 475 34573 8339 -1158 63.56 1321 0.1579 -0.0494 151.252F  524Gm s
= 15480 35578 85.46 -107.76 67.11 126.95 0.1631 -0.0484 148.0626  531lc CiI= ke X g;t;fv(anlggtloursa(t?c) i
55 17 485 37587 88.09 -90.84 90.18 128.01 0.1726 -0.039 135.2588  544c 04 06 08 10 ) vkl
Hlly BE361-1A 2 BE361-2A_2
23 18 490 44620 95.17 -39.39 110.34 117.16 0.1986 -0.0333 109.65@2  561mma: P T R B ALY TR,
=3 19 495 -1495c97.49 -13.34 121.9 122.63 0.2105 -0.029596.2 563 462 X,=0.34570,0.3585 Y40 Xy=0,3457,-03585 40
gg 20500 -1500c96.81 -10.45 127.99 128.42 0.2118 -0.0268 94.6 563 488 Sl et VN 7 S o VN7
== 22510 -1510c94.88 -2.34 137.84 137.86 0.2153 -0.0218 90.9 531 474 2 = 390 [(x-0,17D] 1 2 = a5y [(x-0,179)y] 1
2 = 23 by = byo [21Y 8§80 4 bz=bag (mppx+bp )]
o 520 -1519c93.58 2.85 141.13 141.16 0.2177 -0.0198 88.8 532 4713 Ym A= 1 byg= -0 gt 2og=1, bz 04 6 bo 4
oy 25530 -1529c90.23 15.24 146.8 147.59 0.2236 -0.016284.0 585 415 e L — T S —
R 27 540 -1539c86.01 29.18 144.12 147.04 0.2308 -0.013278.5 585 486 27 36 §\1\ %
< =1 28 545 -1544c83.62 36.35 141.27 145.87 0.2347 -0.012 75.5 586 486 1 1 2
g& 29550 -1549c81.05 43.6 137.66 144.4 0.239 -0.011 72.4 588 488 )
- Ostwalddc Yy=100 O Idcol Yy=100
Sw 30555 -1554c78.3  50.75 133.47 142.8 0.2434 -0.010269.1 583 438 o (P v, D50 e C o w0 +a0
oM 32560 -1560c72.41 64.12 123.93 139.53 0.2528 -0.0092 62.6 538 446 S chioma fA*;, B*) M N
® A = — -
Pt % 32564 1 405 71.0 67.41 10572 125.38 0.2553 -0.023157.4 538 488 Rm e g o240 By o ogsg 9 Bay
=>m 33565 7 435 70.75 75.66 26.96 80.32 0.2602 -0.0643 19.6 636 498 gg(aa—aa,n)zmwgm)ig QAf(aa‘?.n)zle(ng)ig
29 33566 10450 70.4 84.09 -8.19 8449 0.2653 -0.0828 354.4491c 499 R e L | L R I
T 33567 12460 69.97 89.18 -25.67 92.8 0.2685 -0.0921 343.956Gc 5P bs=bao (oD Mew bazbao l(merxep)i] )
= 33568 13465 69.5 915 -32.77 97.19 02702 -0.096 340.25%lc 54 mo=-0974bnz06se |, omTC 1 A Me=-0,1696p20389 peso—%o\.“: As
& 34570 14470 68.72 93.74 -39.06 101.56 0.272 -0.0995337.353dc 529 n=DS0 ~d0 L= g n = D50 -40 7 | s 40
= 34573 15475 67.36 96.12 -45.24 106.24 0.2743 -0.1032 334.7527c 528 Mm 1 P L
© 35578 15480 64.23 100.99 -50.63 112.97 0.2796 -0.1073 333.3631c 526 i1
8 37587 17485 59.67 103.27 -63.42 121.19 0.285 -0.1167 328.4544c 528 Osfwfddolours (o) Yip=100 Ostwaldgolours (0) Yi=100
'a 44620 18490 41.19 9532 -96.8 135.85 0.3001 -0.1557 314.5561c 582 min B ey 2 ST B
=~ -1495c19495 30.29 58.93 -116.79 130.82 0.2804 -0.1936 296.7462 563 BESO1-5A 2 BESO10A2
l X,=96,42,Y,,=100,007,78249 B, X=96,42,Y,,=100,007,782,49 B,
g -1500c20500 34.03 42.92 -111.26119.25 0.2595 -0.1799 291.0466 563 X034671,03585 " 200 %e034571,-03585 " EI
- - = As= (a5 ~as ) Y15 (Y/Y1g) Ag = (36 ~ag ) Y18 (Y/Y19)
o 1510c22510 42.26 8.18 -98.28 98.62 0.2235 -0.1554 274.741% 5324 e ek gk g e e pon e S
3 -1519¢23520 4659 -9.12 -91.17 91.63 0.2091 -0.1449 264.2478 522 Bm a = agg [(+-0,170/y] 1 a = agg [x] 1
o -1529c25530 5528 -39.96 -76.64 86.43 0.1882 -0.1275242.4416 525 =l s Paa g8 80 42 st e gs b0 42
— 20 » P20 ' A 20 1 P20 " A
= -1539¢27 540 63.34 -62.09 —-62.98 88.44 0.1771 -0.1147 225.4486 538 M= 0940650 ot 1, 05 mox=-0974 =050 Wicall S
-1544c28545 67.02 -69.55 -56.7 89.74 0.1743 -0.1096 219.1486 586 "= 0 | % 40 "= 40 5 ®H
-1549¢29550 70.49 -74.83 -50.77 90.42 0.1729 -0.1053 214.148% 588 1 »l
-1554¢30555 73.73 -78.04 -4521 90.19 0.1727 -0.1015210.0486 585 Ll L
= = = = O ddol Yyw=100 Ostwaldcoll Y\W=100
1560c32560 79.46 -78.96 -35.36 86.52 0.1749 -0.0954 204.148§ 538 e vl D50 e O o v S0 +a0
chroma (A*g, B*5) chroma (A*g, B*¢)
380 770 100.0 0.0 0.0 0.0 0.2164 -0.0785 0.0 BE361-7A_2 BE361-8A_2

1-000130-L0

BE360-7N_16

TUB-test chart BE36; CIEx, y) and chromaA*;, B*;)

input: w/rgb/cmyk —> rgb
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- http://farbe.li.tu-berlin.de/BE36/BE36.HTMONP.PDF /.PS -
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 3/8
Ostwaldoptimal colours (0) of maximum (m)Cag for P40, Y,,=100, Y;,=520_770
T " * . - - ) " " oS 52 Ostwaldcolours (9) Yw=100 X=100,93,Y,,=100,00.2,,=64,68 B0
= i, A\ i A L A B C*pg @ b ha idyAd icAc Cods 0817 M _me;'); (m%chror[r_\a_nc(;/_alue, P40 *w=0,3799y,,=0,3764 1 0
@ o 0 405 33568 79.95 -84.51 -34.12 91.14 0.1748 -0.0873201.948F 538Cm 5 D chromatcly diagram (x. ¥) AR NI NV TE
=@ 7 435 33568 80.1 -96.58 -15.98 97.9 0.1685 -0.0794 189.3498 634 o et 1
3.8 10 450 33569 80.34 -107.656.16 107.83 0.1627 -0.0697 176.7499  494c bo=bzolzM 78 B3 43
0O 3 80=1, byp=-04 0—\.\ A
o 2. 12 460 34570 80.63 -113.5 2558 116.35 0.1598 -0.0613 167.25@L  56c , , . 20
=2 13465 34571 80.91 -114.7836.41 120.41 0.1593 -0.0566 162.3522 5k o n=pao 0 508 4
S 14 470 34572 81.39 -114.4147.53 123.89 0.1598 -0.0519 157.4513  51dc Sen? | )
3 ® 14 475 34574 82.45 -111.2249.34 121.68 0.1621 -0.0513 156.0622%  52AGm 1
DI 15480 35578 83.87 -105.7261.75 122.43 0.1657 -0.0464 149.7536  531c CIE 1931 X ostuatayours () w100
55 17 485 37585 86.02 -93.35 83.49 12524 0.1731 -0.038 138.152B  543c 00 Y02 04 06 08 10 e v
- BE361-1A 3 BE361-2A_3
23 17 490 40600 91.25 -65.8 92.44 113.47 0.1884 -0.0362 1254530  554ana RSO0 53, IO GOz B, R TN I oA
=3 19 495 -1495c97.98 -9.02 119.65 119.99 0.2157 -0.0283 94.3 534 462 X, 03799,50.3764 L X037, 03764 40
2Z  |20500 -1500c97.41 -6.56 12594 126.11 0.2168 -0.0257 92.9 5B 463 e e o s o2 pen T1s 1 1
Et 21510 -1509c96.66 -3.4 131.64 131.68 0.2182 -0.023391.4 532 469 =20l 0179 1 22 2anl00173] 1
. E 7 E Mp1X+H
o 24520 -1520c93.2  10.4 142,94 143.32 0.2246 -0.017385.8 535 416 Ym ap= 1. byo= 04 7883 43 Rk e & 5 by A
oy 26530 -1530c89.83 22.28 149.05 150.71 0.2305 -0.014281.4 585 486 e — e RS Sl e
R 27540 -1539c87.86 28.7 147.39 150.16 0.2338 -0.012978.9 586 486 5 | 3 SYB} % >
< =1 29545 -1545c83.37 41.99 141.62 147.72 0.2413 -0.0108 73.4 536 484 LA g
g& 29550 -1549c83.37 41.99 141.62 147.72 0.2413 -0.0108 73.4 586 486
— O Idgol Yy=100 Ostwaldcoll Yy=100
=) 31555 -1555c78.17 5522 133.54 14451 0.2496 -0.009567.5 587 486 et (e VoS, PAD e o w0 +a0
oM 32560 -1560c75.32 61.53 128.87 142.81 0.2541 -0.0091 64.4 5@B 487 S chiopa (A*y, B+) M N
D 5 XW:100,93:,YW2100,00,ZW:64,68 B xW:100,93:,YW:100,oon:e4,68 B
% 33568 0 405 71.84 6849 117.18 13573 0.2595 -0.017959.6 538 488 Rm g i %40 aliyc i 4 o
=m 33568 7 435 71.65 75.18 25.05 79.24 0.2635 -0.0604 18.4 634 498 gg(aa—aa,n)zmwgm)ig QAf(aa‘?.n)zle(ng)ig
29 33569 10450 71.37 8114 -69 8143 02671 -0.0757 355.1499c 499 R e L | L R |
T 34570 12460 71.01 84.71 -23.18 87.82 0.2694 -0.0836 344.6507c 50T btz (Mosx+bo o 4 bbap (oo
= 34571 13465 70.66 86.26 -29.94 91.31 0.2705 -0.0869 340.853Ac 522 mor=-0.97Abo=0658 oo T . Me=-0,1696p0389 p@—-%s\?: A
& 34572 14470 70.05 87.8 -35.89 94.85 0.2718 -0.0899 337.753dc 529 TR -40 | 40 T -40 6 | 39 40
= 34574 14475 68.66 90.25 -38.28 98.03 0.2741 -0.0914 337.0524c 522 Mm 3 | “ v
© 35578 15480 66.66 93.09 -45.56 103.65 0.2772 -0.0956 333.953Ic 536
8 37585 17485 63.33 95.05 -56.43 110.54 0.2808 -0.1023 329.3543c 528 Ostwalddolours (0) Yi=100 Ostwaldgolours (0) Yi=100
> 40 600 17490 52.92 100.17 -74.36 124.76 0.2939 -0.1177 323.4554c 530 min Ry ) A ST
a -1495c19495 27.1  48.32 -121.83131.07 0.277 -0.1913 291.6442 532 BESO1T5AS SFae176A 3
l X,=100,93)Y,,=100,007,,64,68 B, X,=100,93),,100,007,764,68 B,
Q -1500c20500 30.79 32.53 -116.48120.94 0.2552 -0.1771285.646B 5BY Xo=0,3790y, 03764 200 Xo=0,3790y, 03764 EI
- - — As = (a5~ as;) Y1g (Y/Y19 /3 Ag= (a5~ ag,) Yag (VY19 1/3
o 1509c21510 34.77 1553 -110.39111.48 0.2353 -0.1638 278.0463 572 e ek gk g e e pon e S
SBR -1520c24520 47.74 -35.63 -89.33 96.18 0.1912 -0.1313 248.2416  535Bm a = ag [(-0,17}] 1 2= a5 [X] 1
bs=hs0 [(Mp1x+bp1)/y] be=b,0 [(Mpx+bpy)/y]l
= -1530c26530 56.15 -61.81 -75.22 97.36 0.176 -0.1162230.5486 528 el Iy e b lTopcios I .
=~ -1539c27 540 60.09 -71.38 —68.53 98.96 0.1719 -0.1102223.8445 586 Mo 09TAZ0G | o0 ], 05 moi=-097A=0058  eror 7 S
-1545c29545 67.38 -83.62 -56.09 100.69 0.1686 -0.1007 213.8486 536 "= 40 A s 40 "= 40 ) 40
-1549c29550 67.38 -83.62 -56.09 100.69 0.1686 -0.1007 213.8486 536 [ AL
-1555c31555 73.87 -87.57 —44.97 98.45 0.17 -0.0934 207.1488 588
— - - — O Iddol Yyw=100 Ostwaldcoll Yy=100
1560c32560 76.81 -86.88 -39.92 95.61 0.172 -0.0905204.6487 598 Ostwalddolours 0) =100 Ostwaldcolours ) vw=1%0. " |4
chroma (A*g, B*5) chroma (A*g, B*¢)
380 770 100.0 0.0 0.0 0.0 0.2197 -0.0724 0.0 BE361-7A_3 BE361-8A_3

1-000230-L0

BE360-7N_16

TUB-test chart BE36; CIEx, y) and chromaA*;, B*;)

input: w/rgb/cmyk —> rgb
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N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 4/8
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Ostwaldoptimal colours (0) of maximum (m)Cag for AQO, Y,,=100, Y,=520_770
T " * . - - S ) " " oS 520 Ostwaldcolours (0) Yj,=100 Xy=109,84.Y,,=99,99,7,,=35,58 B0
iy i, A\ i A L A B C*pg @ b ha idyAd icAc Cods 08 1F SNUM,, max (m) chromatic value, AOO Xw=0,4475y,=0,4074 2+ 40
@ & 1 405 34574 78.85 -93.32 -35.89 99.98 0.1744 -0.0723201.0438 599 Cm T Qo:(&:l;ag.:))yegglgig
=@ 6 435 34574 7896 -96.73 -26.37 100.26 0.1726 -0.0689 195.249® 64D et 1
g.‘ﬂ. 9 450 34574 79.11 -101.61-9.74 102.07 0.17  -0.0628 185.45@D  561c A -
& é 12 460 35575 79.23 -106.37 15.06 107.44 0.1674 -0.0539 171.950B.  508c , , . 20
=2 13465 35575 79.39 -106.94 25.06 109.84 0.1672 -0.0503 166.8522 5 e nEA% 40 R AR
S 13 470 35576 79.77 -105.7325.71 108.81 0.1681 -0.0501166.3572 5c e 550 L
3 ® 14 475 35577 80.24 -104.7436.37 110.87 0.1689 -0.0463 160.85T8  5:Gm
oI 16 480 35579 80.85 -102.0256.29 116.52 0.1708 -0.0393 151.1525  53Zc Y CiI= ke X ﬁi‘l”f‘n'ﬂfgm;{.faﬁ?@ Y100
g{—{ 17 485 36582 82.14 -95.87 67.16 117.06 0.1748 -0.0357 144.9548  540c 00 02 04 06 08 10 chroma (A*q, B*)) ’
- BE361-1A 4 BE361-2A_4
23 18 490 37588 84.48 -84.64 79.28 115.97 0.1818 -0.0321 136.854®  548ma: RIS BT R LB B, R TR R ELEE B,
=3 19 495 40601 89.15 -59.87 94.98 112.27 0.1962 -0.0282 122.2554  55dc X,=0.44780,=0.4074 Y40 Xy=04475,=04074 +40
O o _ _ _ Ar=(a; 2y ) Yig(Y/Y1g) Ay = (a2 ~a ) Y15(Y/Y1g)
<8 20500 -1500c98.3 -0.99 118.2 118.21 0.2256 -0.0237 90.4 536 469 B (s by ) Yas (Y. L/3 B = (o by) Yas (Vi L3
== 21510 -1509¢97.76 133 12456 12457 0.2266 -0.0216 89.3 536 412 2 = 390 [(x-0,17D] i 2 = a5y [(x-0,179)y] 1
Q — by =byo [zM 05=b50 [(Mp1x+bp1)/Y]
o 24520 -1520c95.08 12.06 138.4 138.92 0.2317 -0.0164 85.0 535 486 Ym a1 b= ~0,4 = A 2og=1, bz 04 65 ko A
P 26530 -1530c92.36 21.85 143.79 14544 0.2366 -0.013681.3 585 486 molO0Pu0ll g og, o :1;1;;,346&% s
R 28 540 -1540c88.89 33.07 150.37 153.97 0.2426 -0.0113 77.5 585 487 4 4 12 j34
£5 28545 -1544c88.89 33.07 150.37 153.97 0.2426 -0.011377.5585 447 1 1
g& 29550 -1549c86.88 39.02 147.63 152.7 0.2459 -0.010575.1 536 489
Sw 31555 -1555c82.29 51.17 140.56 149.59 0.2533 -0.0093 69.9 538 498 e (e v, b0 R O s S B
o m 32560 -1560c79.72 57.15 136.37 147.86 0.2573 -0.0089 67.2 538 493 chroma (A}, B*) chroma (A*, B*5)
(D w BE361-3A 4 BE361-4A_4
(o)) Xw=109,84.Y,,=99,99.7,~3558 B X=109,84Y,,=99,99.7,~3558 B,
% 34574 1 405 73.11 69.93 121.37 140.08 0.2672 -0.0157 60.0 539 498 Rm oy Siay o %40 iy S 4 o
=>m 34574 6 435 72.99 71.86 49.23 87.11 0.2684 -0.040334.4 632 496 ggfga—zz,gzmgglgig ?f%‘?.ﬁim(&ﬁlﬁig
_gg 34574 9 450 72.81 7457 129 7568 0.2701 -0.05439.8 56lc 501 Ao ap [T 1 A= 2 [-017Dy] 1
S 35575 12460 7268 77.06 -1442 784 02716 -0.0649 349.3568c 5B b=z (Mox+to0l] " Ry e
= 35575 13465 72.49 77.79 -21.68 80.76 0.2721 -0.0677 344.45¥4c 522 moy=-0,974 b 0,658 65 m*” As r=—0,169 bp,=0,389 65, 187 45 A,
& 35576 13470 72.05 7844 -22.44 8159 0.2728 -0.0681344.05¥3c 523 n=A00 -40 4 40 n=A00 -40 1% 3 ) = 40
= 35577 14475 71.48 7951 -29.1 84.67 0.2737 -0.0708 339.8534c 523 Mm f 1
© 35579 16480 70.74 80.2 -38.45 88.95 0.2745 -0.0746 334.3532c  52@
8 36582 17485 69.07 81.43 -44.04 9258 0.2762 -0.0771 331.554Qc 528 Ostwalddolours (o) Yi=100 Ostwaldgolours (0) Yi=100
'a 37588 18490 65.76 83.25 -51.87 98.09 0.2794 -0.0811328.054dc 528 min e Tt ) A BT
=~ 40601 19495 57.58 83.12 -67.63 107.16 0.2853 -0.091 320.8559c 539 BESOISA BESS10A
l X,=109,84)Y,799,99.7,73558 B, X,=109,84Y,,799,997,-3558 B,
Qh -1500c20500 24.74 7.45 -12558125.81 0.2356 -0.1655273.3468 536 X0447%, 04074 " 200 X0 4479, 04074 " EI
- — - — As= (a5 ~as ) Y15 (Y/Y1g) Ag = (36 ~ag ) Y18 (Y/Y19)
o 1509¢21510 28.63 -9.11 -119.95120.29 0.2153 -0.1519 265.6472 585 e ek gk g e e pon e S
3 -1520c24520 4152 -59.07 -99.57 115.77 0.1721 -0.1189 239.348® 53%Bm a = agg [(+-0,170/y] 1 a = agg [x] 1
o -1530c26530 50.09 -83.73 -85.38 119.59 0.1595 -0.1038 225.5486 585 paie st o s oooag[(oucion] L s
= -1540c28540 58.11 -98.44 -71.87 121.88 0.1563 -0.0927 216.1447 585 Mo=-0.974 10658 s _lo—e A Mos=-0,974 00,0858 £ Ao
-1544c28545 58.11 -98.44 -71.87 121.88 0.1563 -0.0927 216.1487 585 "= 40 4 40 "= 40 SR
-1549¢29550 61.87 -102.31-65.48 121.47 0.1571 -0.0883 212.648% 58 f 12
-1555¢31555 68.87 -104.05-53.51 117.01 0.1617 -0.081 207.249B 598
= = = = Ostwalddols Yyw=100 Ostwaldcol Y\W=100
1560c32560 72.11 -102.33 -47.96 113.01 0.1651 -0.078 205.149B  53B Ostwalddolouts 0) =100 Ostwaldcolours ) vw=190 ' | 4
chroma (A*g, B*5) chroma (A*g, B*¢)
380 770 100.0 0.0 0.0 0.0 0.226 -0.0593 0.0 BE361-7A_4 BE361-8A_4

1-000330-L0

BE360-7N_16

TUB-test chart BE36; CIEx, y) and chromaA*;, B*;)

input: w/rgb/cmyk —> rgb
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TUB-test chart BE36; CIEx, y) and chromaA*;, B*;)

input: w/rgb/cmyk —> rgb

__n

-8 V L o Y M C
- http://farbe.li.tu-berlin.de/BE36/BE36.HTMONP.PDF /.PS -
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 5/8

Ostwaldoptimal colours (0) of maximum (m)Cag for EQO, Y,,=100, Y;;;=520_770

N " S S " " 520 Ostwaldcolours (9) Yw~=100 X=100,00,Y,,=100,00.Z,,=100,00 B0
el L 22 =& P G & 0k Il dphs B 08 1N () chromatic aie £00 %D e 4
® 3 1 405 32564 80.42 -71.93 -32.6 78.98 0.1811 -0.1001204.3486 588 Cm 5 L (R o d
So 6 435 33565 80.69 -86.68 -17.31 88.4  0.1735 -0.0924 191.2488 623 ¢ omanlyl 1 S
2.2 10450 33566 80.99 -110.3113.7 111.15 0.1612 -0.0768 172.949®  498c Do Pl o @ o3
X é 12 460 33568 81.45 -119.3634.48 12425 0.1568 -0.0665163.85@L  567c ’ . Vrm\\ Ao o)
=2 13465 33569 81.92 -121.6145.97 130.01 0.1559 -0.0609 159.522  5Hc . N E0 40 A gg
= 14 470 34571 82.66 ~-120.7657.74 133.86 0.1568 -0.0553 1544522  52c ssi e I ]
33 14 475 35575 84.24 -115.4460.46 130.32 0.1605 -0.0544 152.352%  5280Gm =N
=y 16 480 36581 86.12 -105.7383.03 134.43 0.1664 -0.0442141.853F  53€c CIE1931 X Ostualigglours o) Y100 3=
55 17 485 39595 90.19 -81.63 98.55 127.97 0.18  -0.0386 129.6529  543c oo 04 06 08 10 _ chroma (A" B*) D
2= 18 490 -1490c97.85 ~-20.19 119.57 12126 0.21 -0.032799.5 588 452 ma P T T TV R Z IO B, 4 Q
=8 19 495 -1495c97.3  -17.91 12592 127.19 0.211 -0.0297 98.0 588 462 ROIW0IB ta0 XTI L40 = =
°og 19500 -1499c97.3  -17.91 12592 127.19 0211 -0.0297 98.0 568 462 G e s 3@
== 22510 -1510c94.63 -6.64 140.85 141.01 0.216 -0.021892.7 53% 469 a = a0 [(x-0,179/] 1 2y = 20 [(x-0,17D)] 1 o=
Q by = byg [z B0 5 b;=byg [(Mp1x+bp1)/Y] S0
o 24520 -1520c91.75 4.59  146.03 146.1 0.2212 -0.017888.1 534  4I3 Ym a1 b= ~0,4 Fgoo\T A aog=1, b= 0.4 o0 4, A = m
P 26 530 -1530c88.02 17.68 145.85 146.92 0.2277 -0.014583.0 586 4175 Mol 000n0RE : y Me1=0169.01=0.399 i W N o.m
=R 28540 -1540c83.56 31.64 1412 1447 0.2352 -0.011977.3 586  4I9 0 > | s “ e 5\ e Y o3
£5 29545 -1545c81.07 38.69 137.72 143.05 0.2393 -0.0109 74.3 585 436 1 ) i)
g& 29550 -1549c81.07 38.69 137.72 143.05 0.2393 -0.0109 74.3 585 486 @ m
Sw 30555 -1554c78.42 45.65 133.68 141.26 0.2436 -0.010271.1 585 488 o o fog?ng%;{OE‘JOO g;yggcg;g;fsg?gm%ogm L h T o
oM 32560 -1560c72.66 58.88 124.34 137.58 0.2528 -0.0092 64.6 538 488 S chtoma (A7}, B*;) B e ) =) 5
g o 32564 1 405 71.27 6252 9878 11691 0.2555 -0.0287 57.6 538 486 Rm st s 1000 By g 0000 By o %
iy 33565 6 435 70.93 71.83 28.95 77.45 0.2611 -0.067521.9 623 483 A= @5 - 2, Yag (VY1913 Aq= (@ - 2qr) Yo (V1913 =%
=M B = 03~ by Yyg (yg L3 By = (04 ~by) Yoo (Y1913 © U
= 33566 10450 70.56 84.55 -14.4 8576 0.2687 -0.0918 350.3498c 498 e [T 1 o e [0 17O 1 c U
T 33568 12460 69.98 90.17 -29.54 94.89 0.2724 -0.1004 341.8567c 501 obag[(onbo)h] 80 42 pitag (eacieat] b0 AL
== 33569 13465 69.37 92.89 -35.98 99.61 0.2744 -0.1042338.85Hc 522 moi=-0.974br; 70658, 7] : e mp=-0160bp=03p0 | PEAPOE A o
_oZ 34571 14470 68.37 9544 -41.93 104.25 0.2766 -0.1079 336.2524c 522 DSIELY -40 ) 40 DS -40 7 . 40 wn
S 35575 14475 66.11 99.55 -45.82 109.59 0.2807 -0.1108 335.2528c 525 Mm " 1
© 36581 16480 63.17 102.89 -56.56 117.41 0.2851 -0.1184331.%538c 528
8 39595 17485 55.38 108.0 -71.77 129.67 0.296 -0.1326 326.3549c 529 Ospwaldgolours (0) Yj=100 Osgyfalddolours (0) Yip=100
> -1490c18490 28.02 85.37 -120.26 147.48 0.3177 -0.2165305.3%54  5&3min Q’hxr%%fiﬁ':"gf‘;”a'“e' £00 ) e 4
% -1495c19495 31.41 71.03 -115.43135.53 0.2953 -0.2021 301.6442  5&3 Xwajggmwzloovoozwzmo’ooB X:j;;j)tiwzlomszmovoo H C
S -1499c19500 31.41 71.03 -115.43135.53 0.2953 -0.2021 301.6460 563 X033,03383 T ao 003%33,50338 "ty vs)
o -1510c22510 43.16 21.12 -96.96 99.24 0.2372 -0.1634 282.2463 534 222&3?5‘322%131/3 322532:22'3112%13“3 3
3 -1520c24520 51.68 -12.26 -82.78 83.68 0.2098 -0.1431 261.54712 534 Bm 85 = 20 [(-0,179] 1 26 =z [Xh] 1 Q
o -1530c26530 59.79 -39.13 -69.07 79.38 0.1928 -0.128 240.44718 533 ooag(oucioDh] 80 42 oot (ou o)l osfo 42 o
=~ -1540c28540 67.12 -57.58 -56.56 80.72 0.1838 -0.1168 224.441% 586 mp1=-0,974p0,=0658 4| . s mp1=-0.9740,=0658 S8 | A QL

-1545c29545 70.46 -63.67 -50.83 8148 0.1816 -0.1123218.6486 588 1l 0 B O o ; B 40 o

-1549c29550 70.46 -63.67 -50.83 81.48 0.1816 -0.1123218.6486 588 1 I Q

-1554c30555 73.6 -67.81 -45.45 81.64 0.1806 -0.1084 213.8488 583 Y ®

-1560c32560 79.25 -70.77 -35.73 79.28 0.1813 -0.1019 206.7485 538 o ygmag?gym{?oo Ostwaidcolours ) vw=1%0 |4 %

380 770 1000 00 0.0 00 02191 -0.0837 0.0 sE TA S chiora e B e et
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N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 6/8
Ostwaldoptimal colours (0) of maximum (m)Cag for COO, Y,,=100, Y,=520_770
T " * . - - ) " " oS 520 Ostwaldcolours (9) Yw~=100 Xy=98,07.Y,,=100,00,Z,,=118,22 B0
iy i, A\ i A L A B C*pg @ b ha idyAd icAc Cods 0.8 17 UM, max (m) chromatic value, COO %w=0,3100y,,=0,3161 0
@ & 1 405 32562 80.56 —63.21 -32.83 71.23 0.1846 -0.106 207.448B 583 Cm y T Qo:(&:l;ag.:))yegglgig
=@ 6 435 32563 80.94 -78.71 -18.89 80.95 0.1766 —-0.0985193.5486 612 g et .
g.‘ﬂ. 10450 32564 81.34 -107.6812.88 108.44 0.1618 -0.0817 173.1498  496c A =
O é 11 460 33566 82.13 -112.8424.14 11539 0.1595 -0.0759 167.%5@D 56 , Ao
=2 13 465 33568 82.49 -121.7746.54 130.36 0.1552 -0.0642 159.05622  5}c o n=coo 0 i
S= 14 470 34570 83.42 -121.3559.14 1350 0.156 -0.058 154.0522  522c e
3 D 15 475 35575 84.96 -116.2 72.42 136.92 0.1595 -0.0517 148.053B  530cGm
oI 16 480 36582 87.53 -103.1286.81 134.79 0.1673 -0.0454 139.%548  54{c 00 (Cli= deri X LN
el 16 485 40602 92.82 -72.73 959  120.36 0.1839 -0.0432 127.158D  551c 00 b2 04 06 08 10 chroma (A", B') |
Hlly BE361-1A 6 BE361-2A_6
23 18 490 -1490c97.36 -24.59 121.29 123.76 0.2067 -0.0335101.4568 439 ma %8807 IR Z AT 2 B, %5807, IR W Z T 7 B,
=) 19 495 -1495c96.73 -21.95 127.88 129.75 0.2078 -0.0302 99.7 568 462 %,=0.3100%,=0.8161 140 Xw=0,3100,70,3161 " +40
gg 19500 -1499c96.73 -21.95 127.88 129.75 0.2078 -0.030299.7 56B 482 Sl et VN 7 S o VN7
Q: 21510 -1509¢95.02 -14.69 138.59 139.36 0.2109 -0.0244 96.0 568 468 =2 0173 96 22> erole-O1IM 1
. = Z =| Mp X+
o 24520 -1520c91.05 1.02 1448 144.81 02181 -0.018 89.5 532 472 Ym i el ) [rsg Rk e & o3l A
oy 26530 -1530c87.33 13.98 14452 1452 0.2245 -0.0147 84.4 585 415 T Tt — R S —t
R 28540 -1540c82.69 28.3 139.63 142.47 0.2321 -0.012178.5 538 418 2 & 34
£5 28545 -1544c82.69 283  139.63 142.47 02321 -0.0121785 528 418 1, &
g& 29550 -1549c80.02 35.71 135.89 140.5 0.2364 -0.011175.2 586 418 |
Sw 31555 -1555¢74.09 50.35 126.59 136.23 0.2459 -0.0097 68.3 585 4886 e e vl 000 ot () ot Co0 t-a0 S
o.M 31560 -1559¢74.09 50.35 126.59 136.23 0.2459 -0.0097 68.3 587 486 ___ chfoma (A4, B*) e G
o® T = = =
o % 32562 1 405 71.09 57.31 106.8 121.2 0.2509 -0.0254 61.7 589 488 Rm fwwggifggx;gg"l’gfzw-“&” B3—-40 fxggi’fggx;;g‘;gfZw—118’22 B4__40
=>m 32563 6 435 70.63 68.01 33.32 7574 0.2573 -0.068826.1 632 488 A3 = (ag = ag ) Yig (Y/Y191/3 A= (ag =) Yag (VY19 L/3
= B3 = (bs —bs) Yaa (VY1913 By = (04— byy) Vi (V1913
= w 32564 10450 70.11 84.57 -13.89 8571 0.2672 -0.0968 350.6496c 498 aum 2 [-017D0] 1 o = 2 [(x-0.17D1] 1
=T 33566 11460 69.09 89.82 -23.71 92.89 0.271 -0.1028 345.2561c 5PQ B5=020 [(Mp1x+Dp)/y] 038 42 b4=bz0 [(Mp1x+bp /Y]
= a=1,by=-04 A ay=1, byy=-0,4 by8 4, A
= 33568 13465 68.6 9522 -37.12 1022 0.2745 -0.1111 338.65%3c 523 Mp1=-0,974,b0;=0.658 . = Mp1=-0,169 bp1=0,389 . M
& 34570 14470 67.31 98.82 -43.8 108.09 0.2776 -0.1155336.0524c 522 n=coo ~40 o 40 n=coo 40 a 40
= 35575 15475 65.02 103.1 -51.14 115.09 0.2819 -0.121 333.6530c 536 Mm i i
© 36582 16480 60.71 108.36 -61.1 1244 0.289 -0.1294 330.5540c 528
o 40 602 16485 48.81 118.01 -81.6 143.48 0.3096 -0.1532 325.3551c 530 dolours (0) Y=100 dolours (0) Yy=100
> -1490c18490 31.05 89.91 -115.42146.31 0.3142 -0.2146 307.%454  5&3min O ) 2 ST 0
a -1495c19495 34.46 75.47 -110.51133.82 0.2932 -0.2011 304.3%462 5@B BESO175A.0 BESOLOA0
l X,=98,07.Y,=100,00Z,~118,22 B, X4=98,07,Y,=100,00Z,=118,22 B,
Qh -1499c19500 34.46 75.47 -110.51133.82 0.2932 -0.2011 304.3462 568 Xo=0,3100y,=0,3161 20 Xo=0,3100y,=0,3161 410
- — = As = (a5~ a5 ) Yag (Y/Y191/3 Ag = (@5 = 8g) Y15 (Y/V191/3
o 1509c21510 41.75 44.31 -99.2 108.65 0.2564 -0.1768 294.0468 568 e TN e N
3 -1520c24520 53.38 -2.45 -79.92 79.96 0.2158 -0.1477 268.2412 532 Bm 2= ay [(x=0,173)y] 1 2= ay [Xly] 1
o -1530c26530 61.06 -28.27 —66.91 72.64 0.1991 -0.1331247.0415 535 ooag(oucioDh] bg8 42 e ] o3ls 42
= -1540c28540 68.34 -47.27 -54.48 72.13 0.1893 -0.1217 229.0415 538 Moi= 05740856, = , S Mos= 0.6741,=0.458 355 N\ Ao
-1544c28545 68.34 -47.27 -54.48 7213 01893 -0.1217 229.0418 538 "= 40 > | 40 "= 40 X a4
-1549c29550 71.74 -53.89 -48.64 7259 0.1866 -0.117 222.0418 586 i' 1
-1555c31555 77.97 -61.37 -37.94 7215 0.1846 -0.1093211.7486 588 i
_ _ _ _ Ostwalgdolour: Yyw=100 Ostwaldcoll Y\W=100
1559c31560 77.97 -61.37 -37.94 72.15 0.1846 -0.1093211.748F 588 Ofwaigdolowrs (0 100 Oswaldcolours () W00 1 4o
chigfna (A*s, B*5) chroma (A*g, B*g)
380 770 100.0 0.0 0.0 0.0 0.2176 -0.0885 0.0 BE361-7A_6 BE361-8A_6
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TUB-test chart BE36; CIEx, y) and chromaA*;, B*;)

input: w/rgb/cmyk —> rgb
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N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 7/8
Ostwaldoptimal colours (0) of maximum (m)Cag for P00, Y,,=100, Y;,=520_770
T " * . - - b’ h ) i oS 52 Ostwaldcolours (9) Yw~=100 X\=102,06.,Y,,=100,00.2,,=81,06 B0
= i, A\ i A L A B C*pg @ ab IdAd e Ac Codg 0817 M _me;'); (m%chror[r_\a_nc(;/_alue, P00 ¥w=0,3604y,,=0,3531 1 2+ 40
D 1 405 33567 80.08 -78.89 -33.31 85.63 0.1785 -0.0938 202.8486 538 Cm v T Qo:(&:l;ag.:))yegglgm
=@ 7 435 33567 80.26 -94.95 -13.06 95.84 0.1701 -0.0842 187.849B  491c u et 1
g.‘ﬂ. 10 450 33568 80.54 -108.9910.63 109.5 0.1628 -0.0731174.4499  499c Zﬁ;bi"zf:-m 89 82 43
O é 12 460 34570 80.91 -116.2830.81 120.29 0.1591 -0.0636 165.150L  567c , , Y Ao
=2 13465 34571 8127 -117.7141.96 124.97 0.1586 -0.0585160.322 5 o N Foo 40 sy
S 13 470 34572 82.09 -115.1543.37 123.05 0.1605 -0.058 159.35P8  5Hic Z 1
3 D 15 475 35575 829 -113.6965.12 131.02 0.1617 -0.0482 150.152%  52d0Gm :
DI 16 480 36580 84.67 -105.54 77.46 130.92 0.1669 -0.0432 143.7527  537c CIE 1931 x ostualiyours (@) 100
g{—{ 17 485 37589 87.83 -88.41 91.44 127.19 0.177 -0.0381134.052B  541c 00 02 04 06 08 10 chroma(A*g g /0
Hlly BE361-1A 7 BE361-2A_7
23 18490 45625 9555 -35.3 11258 117.98 0.2043 -0.0323 107.4582  564mma X T0206 o0 o206 B, R0 06T T O ZmiT
=3 18 495 -1494c98.18 -14.88 117.1 118.05 0.2139 -0.0316 97.2 523  46Q %,7036044,503531 $40 %, 03604y, 0353 -
2Z  |20500 -1500c97.07 -10.22 129.61 130.01 0.2159 -0.026194.5 5B 483 e e o s o2 pen T1s 1 1
= 22510 -1510c95.29 -2.73 139.39 139.42 0.2193 -0.021391.1 533  41@ a = 350 [(x-0,1791] 1 2 = 290 [(-0.17)] 1
Q — by =byo [zM 89 82 05=b50 [(Mp1x+bp1)/Y]
o 24520 -1520c92.66 7.59 14517 14536 0.2241 -0.017587.0 535 474 Ym A= 1 byg= -0 por] 43 A 20=1, byo= 04 OB A
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